HERA MEE/ L —F
StER S T GR04940 GR04970 GR00100 GRO1240 GR01270 GR-H24 GR-H42 GR-H60
RH 1SO No. JIS No. —f —f% —fi% fitzh fit#h BiRE BihEh BirE
SHIRERE ISO 13468-1 JISK7361-1 3mm % 92= 91= 91= 92= 91= 92= 91= 91=
AR ISO 14782 JISK7136 3mm % =10 =15 =18 =10 =15 =10 =14 =15
[ 1SO 489 JISK7142 nd = 1.49 1.49 1.49 1.49 1.49 1.49 1.49 1.49
5 |3RAE MR ISO 527-2 JISK7161 1A/ MPa 2500 2100 1700 2500 2100 2400 2100 1600
3 3RERE 1SO 527-2 JISK7161 1A/5 MPa 59 48 40 62 50 55 45 38
3 3RMIEO 9 ISO 527-2 JISK7161 1A/5 % 17 50 60 15 40 22 50 61
it S ISO 178 JISK7171 = MPa 2600 2200 1800 2600 2200 2500 2200 1700
B FRRIZEIS 1SO 178 JISK7171 = MPa 95 78 62 96 79 88 76 61
Ty IlE—ERRE /v Fizl 1SO 179 JISK7111 TeU KJ/m?2 56 71 91 50 73 56 71 101
Sy FAE 1SO 179 JISK7111 TeA KJ/mz2 3 45 6.5 3 45 2 4 5
w4y z)VEE ISO 2039-2 JISK7202  MAR&—)b = 84 68 44 85 68 81 63 39
HERhHEE 7 Z—ILE 1SO 75-2 JISK7191 1.80MPa K€ 91 86 83 95 90 86 84 77
EAv FYLRE 1SO 306 JISK7206 B50 RC 97 93 90 102 97 94 92 88
MFR ISO 1133 JISK7210 230°C 373N g/10min 5 3 1.5 18 il.77 10 6 3
[5g=! = JISK7123 = J(g+°O) 1.5 1.5 1.5 1.5 1.5 1.5 15 1.5
TR ARIREK - JISK7197 = 1/°C 9X 105 10x105 ~ 11X10% 9% 105 10X 10 9X105 10X105 ~ 11X10°5
i = JISKA1412 = W/ (m-°C) 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2
KEIETE = JISK6911 B Q >1016 >1016 >1016 >1016 >1016 >1016 >1016 >1016
AEREIETIER = JISK6911 = Qm >1013 >1013 >1013 >101 >1013 >1013 >1013 >101
iR & = JISK6911 4kV/sec MV/m 20 20 20 20 20 20 20 20
BEXR a JISK6911 60Hz = 4 4 4 4 4 4 4 4
BE ISO 1183 JISK7112 = g/ci 1.18 1.17 1.16 1.18 1.17 1.18 il 1% 1.16
M7k =R (23°C) ISO 62,method 1 — 24 hr % 0.3 03 03 03 0.3 0.3 0.3 0.3
TN ESR 1SO 294-4 JISK7152-4 = % 04~08 = 04~08 = 04~08 = 04~08 04~08 = 04~08 = 04~08 04~08
R UL94 — = class HB HB HB HB HB HB HB HB
BRBERE = JISK6911 = cm/min 3 3 3 3 3 3 3 3
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